
PR
OD

UC
T D

AT
A S

HE
ET

 Use your smart phone to 
scan the above QR code to 

visit our website:
www.bk-resources.com

Phone: 888-310-4393          |          Fax: 888-310-4394         |          Website: www.bk-resources.com          |          Email: sales@bk-resources.com 

Pedestal Hand Sinks
Stainless Steel Hand Sinks

Certifications:

Features:

Options:

Material:

• Upgrade Faucet

• T-304 Heavy Gauge Stainless Steel• Drain Included

Part Number
Unit Size

(w x d)
Bowl Dim.  
(l x w x d)

Faucet / Spout
Mounting

Included
Faucet

Drain
Size

BKHS-W-1410-PED 17” x 15 3/8” 14” x 10” x 5” 1 Hole Splash - 2”

BKHS-W-1410-PED-P-G 176” x 15 3/8” 14” x 10” x 5” 1 Hole Splash    BKFVSGS-G 2”

DETAIL  A
SCALE 3:1

1

1

2

2

3

3

4

4

A A

B B

C C

D D

SHEET 1  OF 5 

DWG NO

BKHS-W-1410-PED
SCALE

AUTHOR:
DATE:

Tyler Arnold 
12/20/2017

REVISIONS
Description: Date:

 

SIDE VIEW
Scale = 1:7

GENERAL NOTES:  
1.) Units of Measure: Inches

2.) Content is exclusive property of BK Resources. This
 may not be replicated or distributed without the written

 consent of BK Resources.
3.) Material: T-304 18 ga Stainless Steel (.050 Thick)
4.) Finish: #4 polished finish on all exposed surfaces

5.) Tolerence: (+/-) 0.125

120 Frontage Rd.
Altamont, IL 62411

Part #:
BKHS-W-1410-PED

 
Description:

Pedestal Hand Sink

As Noted

TOP VIEW
   Scale = 1:7

FRONT VIEW
Scale = 1:7

ISO VIEWS
Scale = 1:8

17.000

16.500

33.000

8.000

41.000

15.375

4

5

2

1

PARTS LIST
ITEM ITEM # QTY DESCRIPTION

1 SINK 1
2 RIGHT BASE 1
3 LEFT BASE 1
4 KNEE-VALVE BRACKET 1
5 FRONT PANEL 1

6 KNEE-VALVE BRACKET SCREW 4 1/4"-20 X .625" Hex 
Drive Screw

*Note: SINK is to be welded to top of RIGHT & LEFT BASE

3

1.500

3.000

11.125

3.000

1.500

1.500

1.500

1.500

1.000 1.000
13.875

A

.313

.188

.250
R.156 R.156

-Added 2 rear
 brackets w/ holes

02/07/18

REAR VIEW
Scale = 1:7

DETAIL  A
SCALE 3:1

1

1

2

2

3

3

4

4

A A

B B

C C

D D

SHEET 1  OF 5 

DWG NO

BKHS-W-1410-PED
SCALE

AUTHOR:
DATE:

Tyler Arnold 
12/20/2017

REVISIONS
Description: Date:

 

SIDE VIEW
Scale = 1:7

GENERAL NOTES:  
1.) Units of Measure: Inches

2.) Content is exclusive property of BK Resources. This
 may not be replicated or distributed without the written

 consent of BK Resources.
3.) Material: T-304 18 ga Stainless Steel (.050 Thick)
4.) Finish: #4 polished finish on all exposed surfaces

5.) Tolerence: (+/-) 0.125

120 Frontage Rd.
Altamont, IL 62411

Part #:
BKHS-W-1410-PED

 
Description:

Pedestal Hand Sink

As Noted

TOP VIEW
   Scale = 1:7

FRONT VIEW
Scale = 1:7

ISO VIEWS
Scale = 1:8

17.000

16.500

33.000

8.000

41.000

15.375

4

5

2

1

PARTS LIST
ITEM ITEM # QTY DESCRIPTION

1 SINK 1
2 RIGHT BASE 1
3 LEFT BASE 1
4 KNEE-VALVE BRACKET 1
5 FRONT PANEL 1

6 KNEE-VALVE BRACKET SCREW 4 1/4"-20 X .625" Hex 
Drive Screw

*Note: SINK is to be welded to top of RIGHT & LEFT BASE

3

1.500

3.000

11.125

3.000

1.500

1.500

1.500

1.500

1.000 1.000
13.875

A

.313

.188

.250
R.156 R.156

-Added 2 rear
 brackets w/ holes

02/07/18

REAR VIEW
Scale = 1:7

DETAIL  A
SCALE 3:1

1

1

2

2

3

3

4

4

A A

B B

C C

D D

SHEET 1  OF 5 

DWG NO

BKHS-W-1410-PED
SCALE

AUTHOR:
DATE:

Tyler Arnold 
12/20/2017

REVISIONS
Description: Date:

 

SIDE VIEW
Scale = 1:7

GENERAL NOTES:  
1.) Units of Measure: Inches

2.) Content is exclusive property of BK Resources. This
 may not be replicated or distributed without the written

 consent of BK Resources.
3.) Material: T-304 18 ga Stainless Steel (.050 Thick)
4.) Finish: #4 polished finish on all exposed surfaces

5.) Tolerence: (+/-) 0.125

120 Frontage Rd.
Altamont, IL 62411

Part #:
BKHS-W-1410-PED

 
Description:

Pedestal Hand Sink

As Noted

TOP VIEW
   Scale = 1:7

FRONT VIEW
Scale = 1:7

ISO VIEWS
Scale = 1:8

17.000

16.500

33.000

8.000

41.000

15.375

4

5

2

1

PARTS LIST
ITEM ITEM # QTY DESCRIPTION

1 SINK 1
2 RIGHT BASE 1
3 LEFT BASE 1
4 KNEE-VALVE BRACKET 1
5 FRONT PANEL 1

6 KNEE-VALVE BRACKET SCREW 4 1/4"-20 X .625" Hex 
Drive Screw

*Note: SINK is to be welded to top of RIGHT & LEFT BASE

3

1.500

3.000

11.125

3.000

1.500

1.500

1.500

1.500

1.000 1.000
13.875

A

.313

.188

.250
R.156 R.156

-Added 2 rear
 brackets w/ holes

02/07/18

REAR VIEW
Scale = 1:7

DETAIL  A
SCALE 3:1

1

1

2

2

3

3

4

4

A A

B B

C C

D D

SHEET 1  OF 5 

DWG NO

BKHS-W-1410-PED
SCALE

AUTHOR:
DATE:

Tyler Arnold 
12/20/2017

REVISIONS
Description: Date:

 

SIDE VIEW
Scale = 1:7

GENERAL NOTES:  
1.) Units of Measure: Inches

2.) Content is exclusive property of BK Resources. This
 may not be replicated or distributed without the written

 consent of BK Resources.
3.) Material: T-304 18 ga Stainless Steel (.050 Thick)
4.) Finish: #4 polished finish on all exposed surfaces

5.) Tolerence: (+/-) 0.125

120 Frontage Rd.
Altamont, IL 62411

Part #:
BKHS-W-1410-PED

 
Description:

Pedestal Hand Sink

As Noted

TOP VIEW
   Scale = 1:7

FRONT VIEW
Scale = 1:7

ISO VIEWS
Scale = 1:8

17.000

16.500

33.000

8.000

41.000

15.375

4

5

2

1

PARTS LIST
ITEM ITEM # QTY DESCRIPTION

1 SINK 1
2 RIGHT BASE 1
3 LEFT BASE 1
4 KNEE-VALVE BRACKET 1
5 FRONT PANEL 1

6 KNEE-VALVE BRACKET SCREW 4 1/4"-20 X .625" Hex 
Drive Screw

*Note: SINK is to be welded to top of RIGHT & LEFT BASE

3

1.500

3.000

11.125

3.000

1.500

1.500

1.500

1.500

1.000 1.000
13.875

A

.313

.188

.250
R.156 R.156

-Added 2 rear
 brackets w/ holes

02/07/18

REAR VIEW
Scale = 1:7


